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e Media Player (Microsoft )
e Real Player (Real Networks
e Quick Time Player (Apple

)

)




MPEG4
(500kbps):

LAN
(1Mbps)

N



PB[Viswanathan94] SB[Hue97] FB[Juhn98]

LAN bluetooth




. ﬁ

e

k"B EA .?f& R




12

s D N EOE I Em



I8 iR B



2 2

o [ e
(500kbps) —
6 M7 448 -
5 1F] [

LANT ] :
(Mbps)__| St [ St [Se | S| S |5 ] S

Rl mm

l 1




6 47 498

LAN
(1Mbps)

Sl Sl S2
f 4+ 4
90 30

2 2
MPEG4
I (500kbp3) >y _

(30+90+30)/3= 50
60




—ti



(500kbps)

AN
(1Mbps)

2
1
= /
MPEGA4
T



I8 iR B



IMPEG4 (500kbps)  1Mps LAN  bluetooth
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— MPEG4 500kbps  1Mbps 28%
— MP3 128kbps  1Mbps 63%
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— Pyramid Broadcasting [Viswanathan94]
— Skyscraper Broadcasting [Hua97]

— Fast Broadcasting [Juhn98]
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